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ven. The choice which you think is correct, fill that
circle in front of that question with Marker or.Pen ink in

the answer-book. Cutting or filling two or more circles will
result in zero mark in that question.
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Symbol used for "approximate’ is:
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A paralielogram has right angles.
® 0 ® 1
© 2 © 3
HCF of x2 - x+6andx’—x 6 is: @@@W
O X = 3 x @w
ﬂ If ;& is equal to:
® -6
© e - © -9
One angle on the base of an isosceles triangle is 30°, its
vertical angle is: |
® 30° ® 60°
© 90° © 120°
B 2 linesegmenthas___end points:
® 2 ® 3 |
© 4 © 5
A triangle having ail sides different is called:
® Isosceles ‘Scalene
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@ a- atb
olution of the inequality
x>0 ® x+2<0
© 3x+5<0 ©® x-2<0
110 | has no unit.
® Ratio ® Llength -«
© Area ©) Perimeter

B} Factorsofa-4b*are
® (a-b)(a+b)(a+4b?)
(a=b) (a +b) (a® - 4b?)
© (a?-2b?) (a%+2b?
® (a-2b) (a’ + 2b?)

B The value of 108
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(-3, 3) lies In quadrant:

@ IV ® Il
© I - © |
The conjugate of 5 + 4i is;
@ -5+4i° ®. -5-4i
© 5-4i © 5+4i. "

Iﬂ Area of given figure is:
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® 5em? _® 20cm?
© 10¢m? ® 25cm?




